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0

** HEIKO 1DO **
(YES:1,N0:0)="?
1

12)




l 06-KOUTEN/CHOK, EN) |

'S (M (@ ) EE) B8

X2=? SHIFT =?

(NO)

YES No

(NO)
(G
YES Ne



01)

02)

03)

04) (

05)

06)

07)

08) (

Ne (X=100,Y=100) Ne

KEKKA TOUROKU
NO. (NASI=0) ?
0

CHOK, CHOK--1

CHOK,EN --2
EN ,EN --37?

0
<< EN CHUSIN >>
XM=?

0
XM=

100
YM=

100
YM=

100
(YES=0,N0=1) ?

0
R=?

0
<< CHOKUSEN >>
<< ENDX1=11 >>
X1=?

0
X1=

85.881
Y1=

10.224
=

(X=85.881,Y=10.224) Ne

Ne
»
24 ([EXE)

2
)
[ 2
3 (5] ExE)
Ne )
»
EXE
»
1) (ExE I
)
EXE
»
50
)
»
22 (5] Exe)
Ne )
»
EXE

(X=145.68,Y=210.641)

CHOK, CHOK--1
CHOK,EN --2
EN ,EN --3 7

0

<< EN CHUSIN >>
XM=?

0
XM=
100
Yi=
100
Yi=
100
(YES=0,N0=1) ?
0
R=?
0

<< CHOKUSEN >>
<< ENDX1=11 >>
X1=?

0
X1=
85.881
Y1=
10.224
Y1=
10.224
(YES=0,N0=1) ?
0




09)

10)

11)

12)

13)

14)

15)

16)

Y1=
10.224
(YES=0,N0=1) ?

0
<< T INIX2=T1 >>
X2=?

0
X2=

145.68
Y2=
210.641
Y2=
210.641
(YES=0,N0=1) ?

0

S1=

41.56101326
X=

97.76400531
Y=

50.05002174
Y=

50.05002174
(YES=0,N0=1) ?

0
S2=

138.5691995

)
(] ExE
)
EXE
)
23 (L] EBxE
Ne )
EXE
)
(] Exe
)
EXE
[EXE.
)
EXE
( )
EXE
Ne )
EXE
EXE

<< T IN9X2=T1 >>
X2=7

0
[ x2=
145.68
Y2=
210.641
C—D'<> B
Y2=
210.641
(YES=0,N0=1) ?
0
S1=
41.56101326
X=
97.76400531
Y=
50.05002174
Y=

50.05002174
(YES=0,N0=1) ?

0

[ No=
24

S2=
138.5691995

X=
125.5003067

Y=

143.0085382




17) X= Y=
125.5003067 | ( ) "’ 143.0085382
Y= (YES=0,N0=1) ?
143.0085382 0
18) (= ( ) NO=
143.0085382 | ( "’ 25
(YES=0,N0=1) ? Ne ) << CHOKUSEN >>
0 EXE << ENDIX1=11 >>
X1=?
0
19) (<< CHOKUSEN >> ( ) ~
<< ENDIX1=Tt >> ||»
Xl:') MODE
0 O

' 06-KOUTEN/EN, EN) '

'S D @ E) 6B B8

( ) Ne
)
(NO)
)
YES Ne
(NO)
)
YES No



01)

02)

03)

04)

05)

06)

07)

08)

Ne (X=100,Y=100) Ne

KEKKA TOUROKU
NO(NASI=0) ?
0

CHOK, CHOK--1

CHOK,EN --2
EN ,EN --37?

0
<< CHUSIN-1 >>
XM1=?

0
XM1=

100
YM1=

100
YM1=

100
(YES=0,N0=1) ?

0
R1=7

0

<< CHUSIN-2 >>
<< ENDIXM2=T1 >>
M2=?

0

Xm2=
106.247

YM2=
250.811

—_

(

(X=106.247,Y=250.811)
) Ne

»
27 (ExE

3 [(EXE
)
»
3 (L] B
Ne )
| 2
EXE
)
EXE \I’
)
EXE
| 2
100 (EXE
)
»
26 (5] Exe)
Ne )
»
EXE

CHOK,CHOK--1
CHOK,EN --2
EN ,EN --37?

0

<< CHUSIN-1 >>
XM1=?

0
XM1=
100
YM1=
100
YM1=
100
(YES=0,N0=1) ?
0
R1=7
0

<< CHUSIN-2 >>
<< END?XM2=TT >>
M2=?

0

XM2=
106.247

YM2=
250.811
C—-- B

YM2=
250.811

(YES=0,N0=1) ?

0




09)

10)

11)

12)

13)

14)

15)

YM2=
250.811
(YES=0,N0=1) ?
0

R2=?

X(R)=
Y(R)=

23.2672704

164.125566

Y(R)=
164.125566
(YES=0,N0=1) ?
0

X(L)=
181.7732677

Y(L)=
157.5598183

Y(L)=
157.5598183
(YES=0,N0=1) ?
0

<< CHUSIN-2 >>
<< ENDIXM2=11 >>
xmM2=?

0

R2=?

<< RIGHT >>

X(R)=

23.2672704
Y(R)=

164125566

[Y(R)=

164.125566
(YES=0,N0=1) ?
0

NO=

27

<< LEFT >>

X(L)=
181.7732677

Y(L)=
1575598183

Y(L)=
157.5598183
(YES=0,N0=1) ?
0

NO=

28

<< CHUSIN-2 >>
<< END?XM2=TT >>
XM2="?

0




' 07-SUISEN/CHOKUSEN) '

'S M @@ EE B8

« ) Ne
X2=? SHIFT T=?
( - << RIGHT >>
<< LEFT >>
: (NO)
« )
YES Ne
Ne (X=100,Y=100) Ne (X=150,Y=200) X=186.254,Y=130.471)
(X=109.547,Y=185.224)
01) () Ne
KEKKA TOUROKU o CHOKUSEN--1
NO. (NAS1=0) ?0 [ ] "’ TANKYOKU--2 ? ;
32




02)

03)

04)

05)

06)

07)

08)

09)

CHOKUSEN--1
TANKYOKU--2 ?

0
X1=?

0
X1=

100
Y1=
100
pisp]
Y1=
100
(YES=0,N0=1) ?

0
<< T INX2=TT >>
X2=?

0
X2=

150
Y2=
200
Y2=
200
(YES=0,N0=1) ?
0

<< ENDIXN=1T >>
XN=?
0

186.254

X1=?
0
[x1=
100
Y=
100
Y=
100
(YES=0,N0=1) ?
0

<< T INX2=1T >>
X2=?

0
X2=
150
y2=
200
[Disp ]
y2=
200
(YES=0,N0=1) ?
0

<< ENDIXN=11 >>
XN=?

0
XN=?
186.254
YN=?

0




10)

11)

12)

13)

14)

15)

XN=?
186.254
YN=?

<< LEFT >>

63.52087746

129.4392

Y=
158.8784

Y=
158.8784

(YES=0,N0O=1) ?

0

S1=
65.8280524

S2=

45.97534647

<< ENDIXN=TT >>
XN=?
0

130.471

()
)

EXE

MODE

o W

<< LEFT >>

63.52087746

X=
129.4392
Y=
158.8784
Y=
158.8784
(YES=0,N0=1) ?
0
NO=
32
S1=
65.8280524
S2=

45.97534647

[ << ENDOXN=TT >>
XN=?
0

COos

— sin




' 07-SUISEN/TANKYOKU) '

'S M @@ EE B8

( ) Ne
(G
EXE
X(1P)=?
ExP) (EXE
T=?
(
() () ) (
(BC - EC)
<< RIGHT >>
<< LEFT >>
(NO)
)
YES No
EXE
( )
Ne (X=1575.0678,Y=1536.0583) Ne (X=1750,Y=1400) X=1580.24
29,Y=1526.0235)
01 o
) (" KEKKA TOUROKU € No CHOKUSEN--1
NO(NASI=0) ? | | ||’ TANKYOKU--2 ?
0 ] 0
36 (EXE]
02) CHOKUSEN--1 X(BC)=?
TANKYOKU--2 ? ( 0
. »
2 |EXE




03)

04)

05)

06)

07) (

08)

09)

10)

X(BC)=?

X(BC)=
1575.0678
Y(BC)=
1536.0583

—_

Y(BC)=
1536.0583
(YES=0,N0=1) ?
0

<< T INX=1T >>
X(1P)=?
0

X(IP)=

1750
Y(IP)=

1400

—_

Y(IP)=
1400
(YES=0,N0=1) ?
0

R(R=+:L=-)=?

<< ENDIXN=1T >>
XN=?
0

200 (ExE]

1580.2429

»

X(BC)=

1575.0678
Y(BC)=

1536.0583

—_

Y(BC)=
1536.0583
(YES=0,N0=1) ?
0

<< T INX=1t >>
X(1P)=?

0
X(1P)=
1750
Y(IP)=
1400
—" = I
Y(IP)=
1400
(YES=0,N0=1) ?
0
R(R=+:L=-)=?
0

[ << ENDIXN=TT >>
XN=?

0
XN=?
1580.2429
YN=?

0




11)

12)

13)

14)

15)

16)

17)

XN=?
1580.2429
YN=?

<< LEFT >>

4.999987881

1583.111502

1530.118741

1530.118741
(YES=0,N0=1) ?
0

LX=
10.00001711

A(BC)=
1°25'56.63"

S(BC)=
9.998975474

<< ENDXN=1T >>
XN=?
0

1526.0235

~

MODE

o W

<< LEFT >>

4.999987881

X=

1583.111502
Y=

1530.118741
Y=

1530.118741
(YES=0,N0=1) ?
0

NO=
36

LX=
10.00001711

[ A(BC)=

1°25' 56.63"
S(BC)=
9.998975474

<< ENDIXN=TT >>
XN=?
0




' 08-MENSEK1/ZAHYOU) '

'S M (@ E) EE B8

¢ )

XN=?
SHIFT

Ne40(X=75.547,Y=20.117) Ne (X=110561Y=74.224) Ne  X=80.997Y=
12069) Ne (X=18.008,Y=105.299)

ZAHYOU--1 X1=?
HELON --2 ? ( “’ 0
0
1
X1=? Ne X1=
o] ¢ ) “’ 75.547
Y1=
40 (i) 20,147
X1= Y11=
75.547| ¢ Ne ) “’ 20.117
Y1= (YES=0,N0=1) ?
20.117 EXE 0
Pis> I
4 [va= o X2=2
20.117 ( EXE “’ 0
(YES=0,N0=1) ? 02) )
0 EXE




05)

06) [

07)

08)

09)

10) (

11)

12)

X2=?

0

X2=

110.561
Y2=

74.224
U—" = I
Y2=

74.224
(YES=0,N0=1) ?

0
<< ENDIXN=1T >>
XN=7?

0
XN=

80.997
YN=

120.69
U—" = I
YN=

120.69
(YES=0,N0=1) ?

0
<< ENDIXN=11 >>
XN=?

0
XN=

18.008
YN=
105.299

U

[EXE

Pz
5}
~

[EXE

[x0=

110.561

Y2=
74.224
C—" = B

y2=
74.224
(YES=0,N0=1) ?
0

<< ENDIXN=TT >>
XN=?

0

XN=

80.997
YN=

120.69
YN=

120.69
(YES=0,N0=1) ?

0
<< ENDIXN=1T >>
XN=?

0
XN=

18.008
YN=
105.299
YN=
105.299
(YES=0,N0=1) ?
0




13) [yn= , ) << ENDXN=Tt >>
105.299 ’ XN=?
(YES=0,N0=1) ? ( 11) () ) || 0
0] EXE
1) (<< EnDIXN=TT >> MENSEK 1=
XN=? (m ) "» 4738.84581
0
ExP) (EXE
15 (vensexi= ZAHYOU--1
4738.84581 | ( ) "’ HELON --2 ?
0
16) (zanyou--1 ~
HELON --2 ? ( ) ||»
’ el
O ( ) (74 )
O ( / " "
X " )
O
( )
= MODE ) (
( ) )
(@ MODE
« )
"
)
NO [EXIT] *xkk RESET ****
EXIT ( ) Reset all?
EXE YES: [EXE]
NO :[EXIT]
]




01)

02)

03)

04)

' 08-MENSEKI/HELON) '

'S M (@ E) EE B8

ZAHYOU--1
HELON --2 ?

S1=?
15.291
S2=?

S2=7
8.363
S3=?

() (

»

2

| 2

15.291

»

8.363

»

15.946

) ()

S1=?

S1=?
15.291
S2=?

S2=?
8.363
S3=?

TAKASA=
7.867973063




05)

TAKASA= MENSEK1=
7.867973063 | ¢ ) “» 62.73134923
GOUKEI=
62.73134923
6) (yvENSEKI= S1=7
62.73134923 | ( ) “’ 0
GOUKEI=
62.73134923
07) [s1=0
0| a3
el

/ 08-MENSEK1/HELON)

"ON" )

S M @ E) FE B

( v )
( ) W EE

YES
( ) Exe) (0]
S1(END 3t )=7
/
( ) /
MENSEKI
0 09 01.5) 04)  05)
01-5) ** ZAHYOU IN ** Sl(END:>'lT )=?

(YES:1,N0:0)=7 | ¢

0




04)

$2=? S1=
8.363 “’ 15.291
$3=? TAKASA=
0 15.946 8.205002843
04.3) f51= s2=
15.291| ¢ ) 8.363
TAKASA= 1 “’ TAKASA=
8.205002843 EXE 15.00211628
04.6) (sp= S3=
8.363| ¢ 2> “’ 15.946
TAKASA= TAKASA=
15.00211628 EXE 7.867973063
05) (3= MENSEK 1=
15.946 | ¢ :_,2 “» 62.73134923
TAKASA= GOUKEI=
7.867973063 EXE 62.73134923
/ 08-MENSEK 1 /HELON)
"ON" ) 'S D@
- 02.2) -
()
« )
/ )
-
)
TAKASA(S2) |, (X1,Y1)
...(X3Y3)
X3,Y3 e (X2,Y2)
’

TAKASA(SL)



YES ( )
(7 ) (ExE)( (0] (ExE)
1 ( i )
1, 1 XN=? EXE
( )
1(X1,Y1=X2,Y2) 1
2(X2,Y2 = X3,Y3) 2
3(X1,Y1=X3,Y3) 3
(X=0,Y=0) Ne (X=7.668,Y=13.229) Ne (X=-0.242,Y=15944) Ne (X=8.291,
Y=3581)
0 (zanvou--1 *% ZAHYOU IN **
HELON --2 ? ( “» (YES:1,N0:0)=?
0 0
2 [ExE
02) (s zarvou IN ** ( . X1=?
- -0)="?
(YES:1,N0:0)=" ; BlEa ) “’ 0
1
03) X1=? ( 1 o X1="?
0 0
o] (ExE ) “» Y1=?
EXE 0
04) [x1=2 1 X2=2
0] ¢ "o" 0
Y1=2 (0] (ExE ) “’
0 EXE
05) X2=? Neo X2=
ol ¢ ) 7.668
I Vo=
3 EJ 13®2!29




06)

07)

08)

09)

10) (

11)

12)

13)

15.29067248
TAKASA=
8.205002765

S2=
8.362973454
TAKASA=
15.00184243

S3=
15.94583645
TAKASA=
7.867885163

X2=

7.668
Y2=

13.229
Y2=

13.229
(YES=0,N0=1) ?

0
<< ENDIXN=TT >>
XN=2

0
XN=

-0.242
YN=

15.944
U <>
YN=

15.944
(YES=0,N0=1) ?

04
S1=

[

N

~

y2=
13.229

(YES=0,N0=1) ?
0

<< ENDIXN=1T >>
XN=?

0

[ YN=
-0.242

YN=
15.944
U 0= B

YN=
15.944

(YES=0,N0=1) ?

0

Si=

15.29067248
TAKASA=
8.205002765

S2=
8.362973454
TAKASA=
15.00184243

S3=
15.94583645
TAKASA=
7.867885163

MENSEK 1=
62.730005

GOUKEI=
62.730005




14)

15)

16)

17)

18)

19)

20)

21)

MENSEK 1=
62.730005
GOUKEI=
62.730005
<< ENDIXN=TT >>
XN=?
0
XN=
8.291
YN=
3.581
Disp]
YN=
3.581
(YES=0,N0=1) ?
0
S1=

15.94583645
TAKASA=
8.344391744

S2=
15.02184603
TAKASA=
8.857653432

S3=
9.031292377
TAKASA=
14.73303049

MENSEK 1=
66.529153

GOUKEI=
129.259158

[

N

EXE

EXE

<< ENDIXN=TT >>
XN=?

0
XN=
8.291
YN=
3.581
— - B
YN=
3.581
(YES=0,N0=1) ?
0
S1=

15.94583645
TAKASA=
8.344391744

S2=
15.02184603
TAKASA=
8.857653432

S3=
9.031292377
TAKASA=
1473303049

MENSEK 1=
66.529153

GOUKEI=
129.259158

<< ENDIXN=TT >>
XN=?
0




22) << ENDIXN=TT >> ok ZAHYOU IN **
XN=? (rt / ) YES:1,N0:0)=?
. 02) ||’ (YES:1,N0:0) .
el
« 1
09-3 KAKKEI/2 HEN)
T OO
(MENSEKT)
< >
0D (2 Hen --1 S1=2
2 KAKU--2 ( 0
3 HEN --3 2 “’
0 1 Exe
02) (s127 S1=7
0 30
“» $2=7
30 |EXE 0
03) (5127 $2=7
30 25
$2=7 “’ A3=?
0 25 (EXE 0




04)

05)

06)

07)

01)

02)

52=7 (88°47'21") $3=
25 “’ 38.64327648
A3=? Al=
0 88.4721 50°54’ 36.61"
S3= 1 A2=
38.64327648 ( ) “» 40°18’ 02.39"
Al= MENSEK 1=
50°54'36.61" EXE 374.9162647
A2= 2 HEN --1
40°18'02.39” | ( ) “’ 2 KAKU--2
MENSEK 1= 3 HEN --3 ?
374.9162647 0
2 HEN --1 2 B
2 KAKU--2 ( ) “’
3 HEN --3 ? oo
0
09-3 KAKKEI/2 KAKU)
S OOE)
2
2 HEN --1 A1=?
2 KAKU--2 ( “» 0
3 HEN --3 ?
0 2 |EXE
A1=? (55 °13'27 " A1=?
0 \I’ 55.1327
A2=?
55.1327 0




03)

04)

05)

06)

07)

Al=?
55.1327
A2=7?

A2=7?
36.1455
S3=?

A3=
88°31’ 38”

S1=
35.06193068

S2=

25.23986913
MENSEKI=

442 .3330975

2 HEN --1
2 KAKU--2
3 HEN --3 ?

—~

(36°14'55")

36.1455

42.672

1

)

e}

A2=7?
36.1455
S3=?

A3=
88°31’ 38”

S1=
35.06193068

S2=

25.23986913
MENSEK 1=

442 3330975

2 HEN --1
2 KAKU--2
3 HEN --3 ?

09-3 KAKKEI/3 HEN)

'S 0D @ ©) EE B

(MENSEKI)




01)

02)

03)

04)

05)

06)

07)

2 HEN --1
2 KAKU--2
3 HEN --3 ?

S1=?

S1=?
12.345
S2=?

S2=?
16.448
S3=?

Al=

45°08'11.7”
A2=

70°47'52.8”

A3=
64°03'55.5”
MENSEKI=
91.30107187

2 HEN --1
2 KAKU--2
3 HEN --3 ?

3 [(EXE

12.345

16.448

15.663

e}

S1=?
12.345
S2=?

S2=7
16.448
S3=?

Al=

45°08'11.7”
A2=

70°47'52.8”

A3=

64°03'55.5”
MENSEK 1=
91.30107187

2 HEN --1
2 KAKU--2
3 HEN --3 ?




01)

02)

'S M M@ EE B8

(
(
KEIKAKU --1
KIRI:MORI--2 ?
0
HO(KE IKAKU)=?
0

«
( )
+ "1 + 2

»

1 (ExE)

| 2

20.55 (EXE]

' 10-JUDAN/KE IKAKU) .

HO(KEIKAKU)="?

0
HO(KEIKAKU)="?
20.55
L(KUKAN CHO)=?

0




03)

04)

05)

06)

07)

08)

09)

10)

HO(KEIKAKU)=?
20.55
L(KUKAN CHO)=?

0
L(KUKAN CHO)="?
80
SO(SITEN-S)="?

0
<< KOUBAI >>
UP(+),DWN(-)
11(MAE)=?

0
I11(MAE)=?
0.875
12(USIR0)="?

0

<< ENDISN=1t >>
SN=?
0

DX(SN-S0)=
20

HN(KEIKAKU)=
20.621875

YN(KOUTEISA)=
-0.103125

<< ENDISN=1t >>
SN=?
0

80 (ExE]
( )

60 (EXE

+ Z

0.875 (EXE)

+

(=) 325 (Exg)
( )

80 (ExE]

L(KUKAN CHO)=?
80
SO(SITEN-S)=?

0
<< KOUBAI >>
UP(+),DWN(-)
11(MAE)=?

0
11(MAE)=?
0.875
12(USIR0)=?

0

<< ENDISN=1t >>
SN=?

DX(SN-S0)=
20

HN(KE IKAKU)=
20.621875

YN(KOUTEISA)=
-0.103125

<< ENDISN=1t >>
SN=?
0




' 10-JUDAN/KIRI :MORI) '

'S OO0 6B B

—
<« —>
( ) i<
o )
+ _
() ()
( )
0 (keikaky --1 HO(KE IKAKU)=?
KIRIZNORI--2 2 | ¢ 0
. »
2
02) (Ho(KEIKAKU)=? HO(KE IKAKU)=?
0 146.321
L 4 SO(SITEN-S)=?
146.321 0
03) (Ho(KeIKAKUY=? ( ) SO(SITEN-5)=?
146.321 33.564
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